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3. 14/1534 MAIRE = HS{USDA 6€ 102 ZH)

-+ = A A} 2F SaoH NIl =
= =< =L 2| T = < =
15/16 6(A) 127600 128123 159.74 227.35 15.8
M A 15/16 5(B) 1277.31 128071 158.44 224 41 15.6
14/15(C) 128854 1267.73 164.90 211,77 14.8
=S SLEAB) 0.1 0.0 0.8 1.3
ZZE(A/0) -1.0 1.1 3.1 7.4
15/16 6(A) 362.81 311.61 57.03 47.05 12.9
| = 15/16.5(B) 362.81 311.61 57.03 47.00 12.7
14/15(C) 377.12 308.79 55.58 50.35 13.8
== SLUEAB) 0.0 0.0 0.0 1.4
ZU=EAQ) -3.8 0.9 2.6 5.4
15/16.6(A) 989.30 991.12 122,20 195.19 17.5
A A 15/16 5(B) 989.83 990,40 120.90 191.94 17.3
14/15(C) 999.45 976.93 121,83 197.01 17.9
25F SLEA/B) 0.1 0.1 1.1 1.7
ELE(A/Q) -1.0 1.5 0.3 -0.9
15/16 6(A) 346.22 301,26 48.26 44,98 12,9
o =2 15/16 5(B) 346.22 301.26 48.26 44 35 12.7
14/15(C) 361,09 299.01 46.36 47.65 13.8
25F SLEA/B) 0.0 0.0 0.0 1.4
ELE(A/Q) 4.1 0.8 4.1 5.6
15/16.6(A) 721.55 719.56 158.41 202.40 23.1
A A 15/16.5(B) 718.93 716.59 156.95 203.32 233
14/15(C) 726.32 715.89 163.85 200,41 238
T SUSAB) 0.4 0.4 0.9 0.5
EZE(A/Q) 0.7 0.5 3.3 1.0
15/16 6(A) 317.58 305.64 122,15 93.22 218
AA 15/16 5(B) 317.30 304,28 121.98 96.22 22.6
14/15(C) 318.25 293,97 117.95 83.70 20.3
o = SLEAB) 0.1 0.4 0.1 3.1
ZLE(A/Q) 0.2 4.0 3.6 11.4
15/16.6(A) 104.78 53.33 48.31 12,93 12,7
o = 15/16 5(B) 104,78 53.19 4831 13.61 13.4
14/15(C) 108,01 53.10 49.26 8,97 8.8
o = SLEAB) 0.0 0.3 0.0 5.0
ZU=EAQ) -3.0 0.4 -1.9 441
15/16 6(A) 210,99 207.98 67.04 12.57 46
M A 15/16 5(B) 209.80 207.13 66.81 11.06 40
14/15(C) 202.64 197.81 63.71 12,83 4.9
of = &t SLUEAB) 0.6 0.4 0.3 13.7
ZZE(A/0) 4.1 5.1 5.2 2.0
14/15 4(A) 39.39 29.03 10,66 0.27 0.7
o = 14/15 3(B) 39.30 28.94 10.66 0.27 0.7
13/14(C) 39.46 28.21 11,52 0.27 0.7
of & &t SLEA/B) 0.2 0.3 0.0 0.0
ZU=A0) -0.2 2.9 -7.5 0.0
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HAl HESE 23
(] : W)
g4 =2
15/16.6(A) 14/15(B) 14/13(C) AB AGC

JlE=x 2 232,57 211,77 168.22 109.82 138,25
A A 1,276.00 1,288.54 1,281.65 99.03 99.56
T 2 155.28 156.36 155.94 99.31 99.58
£ 3 2 1,603.85 1,656.67 1,605.81 100.43 103.61
2 U A& | 1,281,23 1,267.73 1,238.10 101,06 103,48
AR 2 774.80 761.15 736.20 101.79 105.24
71 El 506.43 506.58 501,90 99.97 100.90
T & 159.74 164.90 164.43 96.87 97.15
£ £ Q2 1,440,97 1/432.63 1/402.53 100,58 102.74
Jl LR D 227.35 232.57 211,77 97.76 107.36
A = 15.78% 16.23% 15.10%

02 ARTE +34Y
(F9] © WREE)
=4 =
15/16.6(A) 14/15(B) 14/13(C) AB AC
71 ! 50.35 34.31 23,53 146,75 213,98
| & 362.81 377.12 367.09 96.21 98.83
T 2 3.13 3.28 3.23 95.43 96.90
B = 416,29 414,71 393.85 100.38 105.70
= H] 311,61 308.79 305.11 100,91 102,13
At = 139.91 138.09 133.47 101,32 104.83
7| E} 171.70 170,70 171.64 100.59 100.03
T = 57.03 55.58 54.42 102.61 104.80
E F 2 368.64 364.37 359.53 101.17 102.53%
iR=1~ n] 47.65 50,35 34,31 94,64 138.83
M o1 s 12.93% 13.82% 9.54%

EU ARRE +34%

&=

15/16.6(A) 14/15(B) 14/13(C) AB AC
7| il 17.19 15.61 13.08 110,12 131.42
A o 159.48 168.28 159.02 94.77 100.29
%= o 12.26 8.28 16.24 148,07 75.49
s 3 = 188.93 192.17 188.34 98.31 100.31
2L A | 163.13 162,57 164.11 100.34 99.40
Ab B2 120.73 120.28 122.36 100,37 98.67
7| Et 42.40 42,29 41.75 100,26 101.56
T = 10.31 12.41 8.63 83.08 119.47
E £ 2 173.44 174,98 172.74 99.12 100,41
= R ! 15.50 17.19 15.61 90.17 99.30
b R = 8.94% 9.82% 9.04%




NAl 844 23

Cil

GO
=4 =
15/16 6(A) 14/15(B) 14/13(C) NG
Jl =R 2 197.01 174.50 137.01 112.90 143.79
A & 989.30 999.45 990.64 98.98 99.86
ES ol 11873 115.65 123,76 102.66 95.94
£ 2 3 1305,04 1289.60 1251.41 101.20 104.29
= L & H| 991,12 976.93 953.15 101.45 103.98
AR 2 610.32 596.97 573.72 102.24 106.38
71 El 380.80 379.96 379.43 100,22 100.36
T & 122.20 121,83 131.07 100,30 93.23
£ £ Q2 1113.32 1098,76 1084,22 101.33 102,68
A= g g 195.19 197.01 174,50 99,08 111.86
Moo g 17.53% 17.93% 16.09%
012 244 +34Y
(5h9] @ HRkE
=4 =
15/16.6(A) 14/15(B) 14/13(C) A
JlEZEM 47.65 31.29 20,86 152,29 228,43
| & 346,22 361.09 351.27 95.83 98.56
%= o 0,64 0.64 0.91 100,00 70,33
2 3 = 394,51 393.02 373.04 100.38 105.76
= L 2| 301.26 299.01 293.05 100,75 102.80
AHROE 134.63 133.36 127.87 100.95 105.29
7| E} 166.63 165.65 165.18 100.59 100,88
= = 48.26 46,36 48,70 104,10 99.10
E F 2 349.52 345.37 341,75 101.20 102.27
A= g 44,98 47.65 31.29 94.40 143.75
M o g 12.87% 13.80% 9.16%
EU 844 £34%
(9] wighE
SLE
15/16.6(A) 14/15(B) 14/13(C) AC
JlER D 7.99 6.82 5.15 117.16 155,15
A o 68.14 73.67 64.66 92.49 105.38
% ol 12.00 8.00 15.92 150,00 75.38
s 3 = 83.13 88.49 85.73 99.59 102.80
= L & H| 78.50 77.50 76.50 101.29 102.61
AHE OB 59.50 58.50 58.00 101,71 102,59
7| E} 19,00 19,00 18,50 100,00 102,70
T = 2,50 3.00 2.40 83.33 104,17
£ £ 2 81.00 80,50 78.90 100,62 102,66
= R ! 7.13 7.9 6.82 89,24 104.55
N oo g 8.80% 9.93% 8.64%
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2 A2 /43

ol

15/16 6(A) 14/15(B) 14/13(C)
JlE=x 1 79.96 77.32 67.57 103.41 118.34
A & 228,00 215,67 218,49 105.72 104.35
T 2 3.00 3.00 3.28 100.00 91,46
E 3 = 310,96 295.99 289.34 105.06 107.47
2 U &y 220.00 216,00 212,00 101,85 103,77
AF B 2 160.00 158,00 154,00 101,27 103.90
7| E} 60.00 58.00 58.00 103.45 103.45
T B 0.05 0.03 0.02 166,67 250,00
= £ @ 220.05 212.00 212,02 103.80 103.79
A= g g 90.91 79.96 77.32 113,69 117.58
N 1 2 41.31% 37.72% 36.47%
NA A a4
LN 2
15/16.6(A) 14/15(B) 14/13(C) =
7 in! 200,41 189.98 176.91 105.49 113.28
| & 721.55 726,32 716.82 99.34 100,66
ES ol 155.12 160.05 158.21 96.92 98.05
B = 1077.08 1076.35 1051,94 100,07 102.39
= H] 719.56 715.89 703.76 100,51 102,25
At = 138.97 141,77 132,22 98.02 105.11
7| El 580.59 574.12 571.54 101,13 101.58
%= = 158.41 163.85 165.92 96.68 95.47
E £ 2 877.97 879.74 869.68 99.80 100,95
iR=1~ n] 202,40 200,41 189.98 100,99 106,54
M o1 s 23.05% 22.78% 21,84%
MA e 34
HigEE
15/16.6(A) 14/15(B) 14/13(C) =
7| inl 12.83 10,98 9.72 116.85 131,97
A o 210,99 202,64 189.47 104.12 111.36
T 2 03.76 60.73 57.94 104,99 110,04
B = 287.58 274.35 257.13 104,82 111,84
= H] 207.98 197.81 186.15 105.14 111.7%
Al b= 207.98 197.81 186.15 105,14 111,73
7| E} B - ) ) B}
T = 67.04 63.71 60,00 105.23 111,73
5 & 2 275.02 261,52 246,15 105.16 111,73
=R 12,57 12.83 10.98 97.97 114.48
DN IR = 4,57% 4,91% 4,46% -




0|2 sy Saag
GO
=4 =
15/16 6(A) 14/15(B) 14/13(C) AC
Jl =R 2 0.27 0.23 0.25 117.39 108.00
A & 39.39 39.46 36.91 99.82 106,72
T 2 0.30 0.32 0.31 93.75 96.77
s 3 3 39.96 40,01 37.47 99.88 106,65
2 U A& | 29.03 28.21 26,76 102,91 108,48
AR 2 29.03 28.21 26,76 102.91 108.48
7| E} B . - B 3
T & 10.66 11.52 10.48 92.53 101,72
s = 2 39.69 39.73 37.24 99.90 106,58
Jl LR D 0.27 0.27 0.23 100,00 117.39
A = 0.68% 0.68% 0.62% -
DAty gieet S34Y
(9] @ WigrE
=4 =
15/16.6(A) 14/15(B) 14/13(C) A
JlE™ 1 4.33 3.07 3.10 141,04 139.68
| & 30.57 30.42 28,54 100.49 107.11
= 2l 0.03 0.03 0.03 100,00 100,00
2 3 = 34.93 33.52 31.67 104.21 110,29
= L 2| 15.45 14.98 14.65 103.14 105.46
A B OB 15.45 14.98 14.65 103.14 105.46
7| E} B ) ) B} N
ES = 14.78 14.20 13,95 104,08 105.95
s F 2 30.23 29.18 28.60 103.60 105.70
A ) 4.70 4,33 3.07 108.55 153.09
M o1 s 15.55% 14.84% 10.73% -
OfZYIE|L} CHEY} $34%
(9] wighE
SLE
15/16 6(A) 14/15(B) 14/13(C) AGC
JlEX 1 4,62 4.76 3.74 97.06 123,53
A o 32,96 30.58 27.89 107.78 118.18
T 2 - - - - -
s 3 = 37.58 35.34 31.63 106,34 118.81
Z U A 2.50 2.22 1.90 112.61 131.58
AbE 2 2.50 2.22 1.90 112.61 131.58
7| E} B - ) ) B}
T = 31.00 28.50 24,97 108,77 124,15
s 2 33.50 30.72 26,87 109.05 124,67
plR=1 < n] 4,08 4,62 4,76 88.31 85.71
N oo g 12,18% 15.04% 17.71% B
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